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CHEMICAL REACTIONS 

IDENTIFY THE TYPE OF REACTION AND BALANCE THE EQUATION:

1.  Li    +    H2O         LiOH    +    H2
1. AlCl3         Al    +    Cl2
1. C6H12    +    O2        CO2    +    H2O
1. AlCl3    +    Na2CO3        Al2(CO3)3    +    NaCl
1. HNO3    +    Ba(OH)2        Ba(NO3)2    +    H2O
1. Al    +    Pb(NO3)2        Al(NO3)3   +    Pb
1. Sb    +    I2        SbI3
IDENTIFY THE TYPE OF REACTION & WRITE A BALANCED EQUATION (INCLUDE STATES):
1. Aqueous solutions of ammonium chloride and lead(II) nitrate produce lead(II) chloride precipitate and aqueous ammonium nitrate.


2. Solid carbon disulfide burns in oxygen to yield carbon dioxide and sulfur dioxide gases.


3. Iron metal reacts with aqueous silver nitrate to produce aqueous iron(III) nitrate and silver metal.
	



4. WRITE & BALANCE THE COMBUSTION REACTION FOR BUTANE GAS:   C4H10





THE MOLE CONCEPT & COMPOUNDS
1. How many magnesium sulfate molecules are in 25.0 g?


2. Find the molarity of a 750 mL solution containing 346 g of potassium nitrate.
3. Calculate the number of grams required to make a 50.0 mL solution of 6.0M NaOH.



4. Find the % composition of copper(II) chloride.




5. The percent composition of a compound is 40.0% C, 6.7% H, and 53.7% O.  The molecular mass of the compound is 180.0 g/mol.  Find its empirical and molecular formulas.
6. A page from a lab notebook is shown below. The page displays data needed to find the empirical formula of a compound.
[image: Mass of crucible, five point two three grams
Mass of crucible and iron powder, seven point four six grams
Mass of iron powder, X
Mass of sulfur added to crucible, one point two eight grams
Mass of crucible and contents after reaction, eight point seven four grams
Mass of iron-sulfur compound, Y]
1. Calculate the values for x and y. Show your calculations and include units in your answer.

1. Assume all the iron and sulfur reacted to form an iron-sulfur compound. Calculate the number of moles of sulfur and the number of moles of iron that reacted to form the compound. Show your calculations and include units in your answer.


1. Determine the empirical formula for the iron-sulfur compound. Show your calculations or explain your reasoning.
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